Chapter 7 Worksheet #1
Balancing Chemical Equations

Balance the equations below:

1) N2 + Ho > NH3

2) ____KCIOs>_KClI+__ 0o

3) _ NaCl+ Fo > NaF+__ Cl

4) _ He+_ O2>__ HO

5) ___ _Pb(OH)2+__ HCI> __ HO+___ PbClh

6) _ ABrs+__ KoSOs4> __ KBr+___ Al(SO4)s
7) _ CHsat+t__ O2>__ CO2+__ HO

8) _ CsHs+_ O2>»_  CO2+__ HO

9) _ CgHis+ O2~> CO2+___ H0

100 ___ _FeCls+___ _NaOH-> ___ Fe(OH)s+___ NaCl

1) P+ 02> P20s

12) Na + HxO->__ NaOH+ __ H

13) _ Ag:0-> Ag + O2

14) Se + 02> SOs

15) _ CO2+_ HO=>__ CsHi2Os+__ O2

16) ____K+___ MgBr> KBr + Mg

17) ___ _HClI+__ CaCOs>__ CaChk+__ HO+__ CO2

18) ~ HNOs3+_ NoHCOz=>  NaNOz+_ HXO+_  CO9
19)  _ HO+_ O2>__ HOo2

200 ____ _NaBr+___ CaF>___ NaF+___ CaBr

21) H2SO4 + NaNO:2 > HNO:2 + Na2SO4



Word Equations

Write the word equations below as chemical equations and balance:

1)

2)

3)

5)

6)

/)

8)

Zinc and lead (ll) nitrate react to form zinc nitrate and lead.

Aluminum bromide and chlorine gas react to form aluminum chloride and bromine gas.

Sodium phosphate and calcium chloride react to form calcium phosphate and sodium
chloride.

Potassium metal and chlorine gas combine to form potassium chloride.

Aluminum and hydrochloric acid react to form aluminum chloride and hydrogen gas.

Calcium hydroxide and phosphoric acid react to form calcium phosphate and water.

Copper and sulfuric acid react to form copper (ll) sulfate and water and sulfur dioxide.

Hydrogen gas and nitrogen monoxide react to form water and nitrogen gas.



Balancing Chemical Equations - Answer Key

Balance the equations below:

1) 1 Nz +3 H; > 2NH;

2) 2 KCIO3 > 2 KCl + 3 O,

3) 2NaCl+1F,> 2NaF +1 Cl,

4) 2H,+10,> 2H0

5) 1 Pb(OH), + 2 HCl > 2 H,O0 + 1 PbCl,

6) 2 AIBr; + 3 K2SO4 > 6 KBr + 1 Al(SO4)3
7) 1CHs+20,>1CO,+2H,0

8) 1CHg+50, > 3CO;+4H;0

9) 2 CgHig +25 0, > 16 CO, + 18 H,0

10) 1 FeCl; + 3 NaOH - 1 Fe(OH); + 3 Nacl
11) 4P+50; > 2P,05

12) 2 Na+2H,0 > 2NaOH + 1 H;

13) 2Ag:0>4Ag+10;

14) 153+120;,> 8505

15) 6 CO; + 6 H,O > 1 CcH1204 + 6 O;

16) 2 K+1MgBr, > 2KBr+1Mg

17) 2 HCl +1 CaCO;3 > 1 CaCl, + 1 H,O +1 CO;
18) 1 HNOs + 1 NaHCO; > 1 NaNO3 + 1 H,0 + 1 CO,
19) 2H,0+10;>2H;0,

20) 2 NaBr + 1 CaF,; > 2 NaF + 1 CaBr;

21) 1 H,SO4 + 2 NaNO,; =2 2 HNOs + 1 Na,SOq4



Word Equations - Answer Key

1) Zinc and lead (II) nitrate react to form zinc nitrate and lead.
Zn + Pb(NO3)2 > ZH(NO3)2 + Pb
2) Aluminum bromide and chlorine gas react to form aluminum chloride and bromine gas.
2 AlBI"3 + 3 Clz > 2 A|C|3 + 3 Bl"z
3) Sodium phosphate and calcium chloride react to form calcium phosphate and sodium chloride.
2 N03PO4 + 3 CGClz > 6 NGC' + CGa(PO4)g
4) Potassium metal and chlorine gas combine to form potassium chloride.
2K + Cl; > 2 KCl
5) Aluminum and hydrochloric acid react to form aluminum chloride and hydrogen gas.
2 Al + 6 HCl > 3 H; + 2 AICl;
6) Calcium hydroxide and phosphoric acid react to form calcium phosphate and water.
3 CG(OH)z + 2 H3PO4 > C03(PO4)2 + 6 Hzo
7) Copper and sulfuric acid react to form copper (II) sulfate and water and sulfur dioxide.
Cu+2 H2504 > CUSO4 + 2 Hzo + 502
8) Hydrogen gas and nitrogen monoxide react to form water and nitrogen gas.

2H, + 2NO > 2 H,0 + N;



